CHEMISTRY

BOOKS - SHARAM PUBLICATION

GROUP 17 ELEMENTS (HALOGEN
FAMILY)

1. Pick up the correct statement out of the

following.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VojYMIXl3Jpk

A. Electron gain enthalpy of fluorine is

smaller than bromine

B.Bond dissociation energy of I, more

than F,

C. Bromine is a volatile liquid.

D. The colour of halogen becomes deeper

from F5 to Is.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_VojYMIXl3Jpk
https://dl.doubtnut.com/l/_oyL48tChRJoD

2. Which of the following pairs will give

chlorine gas most quickly upon reaction ?

A. HCl and K MnQO,

B. NaCl and H3 PO,

C. NaCl and MnQO,

D. CaClz and BT‘g

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_oyL48tChRJoD
https://dl.doubtnut.com/l/_pGnUESrSwn43

3. The hybridisation in ICl; is :
A. Sp>d?®
B. d2Sp’
C. Sp’d

D. Sp’

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_pGnUESrSwn43

4. Fluorine is a stronger oxidising agent than

chlorine in aqueous solution. This is attributed

to many factors except:

A. Heat of dissociation

B. Electron affinity

C. lonisation enthalpy

D. Heat of hydration

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_volhXNKfDdnA

5. The increasing order of acid strength

HCIO, ,HCIO; , HCIO, HCIO is

A. HCIO < HCIO, < HClO; It HCIO 4

B. HClIO4 < HCIO < HCIO, < HCIO4

C.HCIOy < HClO3 < HCIO4 < HCIO

D. HClO4, < HCIO3 < HClO4 < HCIO

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wHy0jpaRisLO
https://dl.doubtnut.com/l/_fhdWSi1hqpX5

6. The correct order of thermal stability of

hydrogen halides (HX) IS :

A.HI > HBr > HCl > HF

B.HF > HCl > HBr > HI

CHCI< HF > HBr < HI

D.HI > HCl < HF > HBr

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_fhdWSi1hqpX5

7. The number of lone pairs of electrons

present in Central atom of ClFj is :

A.O

B.1

C.2

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_mXqQD635JDT4
https://dl.doubtnut.com/l/_KaxU54G9mESc

8. Which of the following order is not in

accordance with the property stated against

each ?

A.HI > HBr > HCl > HF (Acidic

property in water)

B.F5 > Cly > Bry > I

(Electronegativity)

C. F2 > Clz > B’T’z > I2 (Bond

dissociation energy)

D. Fy > Cly > Bry > I, (Oxidising power)


https://dl.doubtnut.com/l/_KaxU54G9mESc

Answer:

o Watch Video Solution

9. Structure of IFj is

A. Linear

B. Pentagonal bipyramids

C.Bent T shaped

D. Square pyramidal

Answer:


https://dl.doubtnut.com/l/_KaxU54G9mESc
https://dl.doubtnut.com/l/_ZhNuDifXxDB4

° Watch Video Solution

10. Which of the following has the highest

reducing power?

A.HCI

B.HI

C. HBr

D.HF

Answer:



https://dl.doubtnut.com/l/_ZhNuDifXxDB4
https://dl.doubtnut.com/l/_Z7msIXapDtr4

11. Oxidising action increases from left to right

in the following order

ACl<Br<I<PF

B.Cl<I< Br < F

CI< F<Cl< Br

D.I < Br < (Cl< F

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Z7msIXapDtr4
https://dl.doubtnut.com/l/_iUwPZIRq165A

12. Among the following which is strongest

oxidising agent ?

A. Cl,

B. F}

C. Br

D. I,

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iUwPZIRq165A
https://dl.doubtnut.com/l/_iCiM2a5oUhy0

13. The structure of I F5 is :

A. Square pyramidal

B. Trigonal bipyramidal

C. Pentagonal bipyramidal

D. Octahedral

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_eDndmHyAByTe

14. Bleaching powder is prepared from the

reaction of :

A. Slacked lime and chlorine

B. Quick lime and Chlorine

C. Burnt lime and chlorine

D. Calcium and Chlorine

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CITUpBFxDDS2
https://dl.doubtnut.com/l/_CuAxIfol3K96

15. The stability of inter halogen compounds

follow the order:

A. IF3 > B’I"Fg > Cng

B.B’I"F3 > IF3 > Cng

C.ClF5 > BrF; > IFj

D. Cng > IF3 > B’I“Fg

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_CuAxIfol3K96

16. Which of the following statement is true ?

A. If aqueous solution HF is stronger than

HC(CI

B. HC1O, is a weak acid than HC1O5

C. HNOs; is a stronger acid than HNO,

D. H3 POj; is stronger acid than H350,

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Ev7UGA4IEJSE
https://dl.doubtnut.com/l/_QSajDvYPIfbl

17. The halogen that is most readily reduced is:

A. Chlorine

B. Bromine

C.lodine

D. Fluorine

Answer:

o Watch Video Solution

18. Sea weeds are important source of


https://dl.doubtnut.com/l/_QSajDvYPIfbl
https://dl.doubtnut.com/l/_sDyF1jlXea8g

A Fe

B. I,

C.Cl,

D. B’I"z

Answer:

o Watch Video Solution

19. Fluorine does not show positive oxidation

state due to absence of


https://dl.doubtnut.com/l/_sDyF1jlXea8g
https://dl.doubtnut.com/l/_ouQpgBocxjjL

A. p - orbital

B. d- orbital

C. s- orbital

D. none

Answer:

o Watch Video Solution

20. Which halogen shows only one oxidation

state ?


https://dl.doubtnut.com/l/_ouQpgBocxjjL
https://dl.doubtnut.com/l/_YOsFnZVZ4YnA

A F

B.Cl

C. Br

D. 1

Answer:

° Watch Video Solution

21. Bleaching powder is

A. CaClg


https://dl.doubtnut.com/l/_YOsFnZVZ4YnA
https://dl.doubtnut.com/l/_YGkoHZAx4Lw0

B.CaClO
C.CaOCl,

D. Ca(Ocl),

Answer:

o Watch Video Solution

22. Freon gas contains :

A. Fluorine

B. Chlorine, argon and nitrogen


https://dl.doubtnut.com/l/_YGkoHZAx4Lw0
https://dl.doubtnut.com/l/_dPtm97IruotN

C. Fuorine, Chlorine and carbon

D. Bromine, nitrogen, chlorine

Answer:

o Watch Video Solution

23. Which of the following oxyacides of

chlorine possesses least oxidising nature

A. HOCI

B. HCIO,


https://dl.doubtnut.com/l/_dPtm97IruotN
https://dl.doubtnut.com/l/_tATdULOCBtop

C. HCIO;

D. HC1Oy

Answer:

O Watch Video Solution

24. Carbon monoxide reacts with chlorine in

diffused sunlight producing :

A. Laughing gas

B. Phosgene gas


https://dl.doubtnut.com/l/_tATdULOCBtop
https://dl.doubtnut.com/l/_oegxYDop7dvN

C. Mustard gas

D. Carbonic acid gas

Answer:

O Watch Video Solution

25. Chlorine acts as a reducing agent only in

the presence of :

A.dry gas

B. moisture


https://dl.doubtnut.com/l/_oegxYDop7dvN
https://dl.doubtnut.com/l/_uVOShvSciUFj

C. sunlight

D. pure O,

Answer:

o Watch Video Solution

26. Fluorine is the best oxidising agent

because it has

A. highest electron affinity

B. highest reduction potential


https://dl.doubtnut.com/l/_uVOShvSciUFj
https://dl.doubtnut.com/l/_rwO0UB0S1E4z

C. highest oxidation potential

D. lowest oxidation affinity

Answer:

o Watch Video Solution

27. When cold NaOH reacts with Cl,, which

of the following is formed ?

A. NCLClOg

B. NaClO


https://dl.doubtnut.com/l/_rwO0UB0S1E4z
https://dl.doubtnut.com/l/_FQXVQiL0AYzj

C. NaCl03

D. None

Answer:

° Watch Video Solution

28. Chlorine gas can be dried by passing over:

A.CaO

B. NaOH

C. KOH


https://dl.doubtnut.com/l/_FQXVQiL0AYzj
https://dl.doubtnut.com/l/_tR5dwFD97Dgd

D. Conc. H,S50,

Answer:

° Watch Video Solution

29. When Chlorine is passed over dried dry
slaked lime at room temperature , the main

reaction product is :

A. Ca(Cl02)2

B. CCLClQ


https://dl.doubtnut.com/l/_tR5dwFD97Dgd
https://dl.doubtnut.com/l/_qe3o1FPcScqY

C. CaOCl,

D. CCL(OClz)z

Answer:

° Watch Video Solution

30. Which of the following acid is weakest?

A.HCI

B. HCIO;

C. HCIO,


https://dl.doubtnut.com/l/_qe3o1FPcScqY
https://dl.doubtnut.com/l/_kw0n5VcfKNSi

D. HCIO

Answer:

o Watch Video Solution

31. Which one is the anhydride of HCIO,

A.Cl,0

B. ClO,

C. Cly O

D. Cl,0-


https://dl.doubtnut.com/l/_kw0n5VcfKNSi
https://dl.doubtnut.com/l/_INLNaVXzmuP3

Answer:

o Watch Video Solution

32. Identify the strongest acid.

A HF

B. HCI

C. HBr

D.HI

Answer:


https://dl.doubtnut.com/l/_INLNaVXzmuP3
https://dl.doubtnut.com/l/_tIe3H03pJAAB

° Watch Video Solution

33. Halogen having highest bond energy

A. Fy

B. Cl,

C. B’l“g

D. I,

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_tIe3H03pJAAB
https://dl.doubtnut.com/l/_yeuHWayCZD0O

34. Which arrangement for the three halogens

Cl, Br and | is correct in the order of their

increasing electron affinity :

ACl< Br<lI

B.I < Br < Cl

CBr<(Cl<lI

D.I < Cl < Br

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_yeuHWayCZD0O
https://dl.doubtnut.com/l/_XnsPFXKeg9W2

35. Fluorine is better oxidising agent than

bromine, it is due to :

A. small size of fluorine

B. more electron repulsion in fluorine

C. more electronegativity of fluorine

D. non- metallic behaviour of fluorine

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_XnsPFXKeg9W2
https://dl.doubtnut.com/l/_rt56yQQA1cDl

36. Most electropositive halogen is:

A F

B. Cl

C. Br

D. 1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_AdLE5tASU4HB

37. Which of the following pairs is not

correctly matched:

A.A halogen which is liquid at room

temperature - Bromine

B.The most electro negative halogen -

Fluorine

C. The strongest oxidising halogen - lodine

D. The most reactive halogen - Fluorine’

Answer:



https://dl.doubtnut.com/l/_E7U4d6QefYJu

| QP Watch Video Solution

38. Sodium chloride when heated with Conc.

H,50, and solid potassium dichromate gives

A. Chromyl chloride

B. Chromic chloride

C. Chromous chloride

D. None

Answer:


https://dl.doubtnut.com/l/_E7U4d6QefYJu
https://dl.doubtnut.com/l/_nIeedI95UpA4

° Watch Video Solution

39. Which of the following is the most volatile

compound ?

A HF

B. HC

C. HBr

D.HI

Answer:



https://dl.doubtnut.com/l/_nIeedI95UpA4
https://dl.doubtnut.com/l/_eUyDxsCtZ2bu

40. HF is a weak acid but HCl is a strong acid

because:

A. HF is less ionic than HCI

B. HF attacks glass but HCl does not

C.Bond energy of HF'is higher than HCI

D. Electron affinity of fluorine is lower than

chlorine

Answer:



https://dl.doubtnut.com/l/_eUyDxsCtZ2bu
https://dl.doubtnut.com/l/_0JBXrmdX8b9L

’ o Watch Video Solution

41. A greenish-yellow coloured gas is liberated

on heating a mixture of two substances which

are:

A. KBr + HCI

B. KI + HClI

C. MnO, + HCI

D. NaCl + H550,

Answer:


https://dl.doubtnut.com/l/_0JBXrmdX8b9L
https://dl.doubtnut.com/l/_FBddBnj5T42r

° Watch Video Solution

42.The chemical name of bleaching powder is:

A. Calcium chloro hypochlorite

B. Calcium hypoclorite

C. Calcium chlorate

D. Calcium perchlorate

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_FBddBnj5T42r
https://dl.doubtnut.com/l/_7bfch74IQMqo

43. Inter halogen compounds are:

A. lonic compounds

B. Co -ordinate compounds

C. Molecular compounds

D. Covalent compounds

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7bfch74IQMqo
https://dl.doubtnut.com/l/_OzpA9Ht7SLwf

44.What is an antichlore?

o Watch Video Solution

45. Which of the following has highest affinity

for hydrogen:

A F,

B.Cl,

C. Br2

D. I,


https://dl.doubtnut.com/l/_0WeMSYO2QGuI
https://dl.doubtnut.com/l/_7Qcm5zVXjxpc

Answer:

o Watch Video Solution

46.Freonis :

A.CClyFy

B.CF,

C.CCIlF;

D. None

Answer:


https://dl.doubtnut.com/l/_7Qcm5zVXjxpc
https://dl.doubtnut.com/l/_ldpzGb022BtV

° Watch Video Solution

47. Which forms maximum compounds with

xenon ?

A F

B.Ca

C.N

D.O

Answer:



https://dl.doubtnut.com/l/_ldpzGb022BtV
https://dl.doubtnut.com/l/_69XzX8SzIb0v

48. Swimming pools are disinfected by

bubbling through water in controlled quantity

of:

A. B’I"z

B. Cl,

C. Oxygen enriched air

D. N,

Answer:



https://dl.doubtnut.com/l/_69XzX8SzIb0v
https://dl.doubtnut.com/l/_xgHtk5UdqkrL

I 0 Watch Video Solution

49, With excess of chlorine ammonia forms

A.NCl3

B. NOCl,

C. N,

D. NH,CI

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xgHtk5UdqkrL
https://dl.doubtnut.com/l/_aUdoPYxeBIKu

50. In ordinary Cly gas C1*® andC1*" are in the
ratio:

A1:3

B.3:1

C.1:1

D.1:2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_g0cZwi8iuj6O
https://dl.doubtnut.com/l/_4qry0iXa2WXM

51. Why fluorine does exist in only oxidation

stateof —17

o Watch Video Solution

52. Which halogen acid is weakest of all ?

A HI

B. HF

C. HCl

D. HBr


https://dl.doubtnut.com/l/_4qry0iXa2WXM
https://dl.doubtnut.com/l/_w40VSXnnUc5N

Answer:

o Watch Video Solution

53. Write the name of two oxoacids of iodine.

o Watch Video Solution

54. Which halogen does not form oxyacid ?

o Watch Video Solution



https://dl.doubtnut.com/l/_w40VSXnnUc5N
https://dl.doubtnut.com/l/_g4ElMLx2b0u4
https://dl.doubtnut.com/l/_IEa9Kc0q6Cpn
https://dl.doubtnut.com/l/_GSCqgEGL0aHG

55. Which compound is produced by the

reaction of chlorine with sulphur dioxide ?

° Watch Video Solution

56. Write the product formed when ammonia

reacts with excess of chlorine.

o Watch Video Solution

57. Which has highest electron affinity?

| 8 l


https://dl.doubtnut.com/l/_GSCqgEGL0aHG
https://dl.doubtnut.com/l/_uE25BMse4pFt
https://dl.doubtnut.com/l/_hUMsYfyjZ64R

58. Which factor is responsible to make
electron affinity of fluorine to be less than that

of chlorine ?

o Watch Video Solution

59. What is the trend of oxidising power from

fluorine to iodine ?

° Watch Video Solution



https://dl.doubtnut.com/l/_hUMsYfyjZ64R
https://dl.doubtnut.com/l/_qCsa8cOg2BvT
https://dl.doubtnut.com/l/_u7yfOpWo936s

60. Explain what happens when HCl gas is

passed through concentrated NacCl solution?

o Watch Video Solution

61. Which of the hydrogen halides more acidic

?

o Watch Video Solution



https://dl.doubtnut.com/l/_pplsbfY5oapv
https://dl.doubtnut.com/l/_du8ymJ8bj3vJ

62. Which halogen does not exhibit the

oxidation state of +1?

o Watch Video Solution

63. Write the order of increase of oxidising

power of halogens.

o Watch Video Solution



https://dl.doubtnut.com/l/_4H082DWthoJG
https://dl.doubtnut.com/l/_qhhZLw2ZpY40

64. Which of the following elements does not
show positive oxidation state? Oxygen,

sulphur, fluorine, chlorine.

o Watch Video Solution

65. What is the role of MnQO, in the

preparation of Cly from HCI?

° Watch Video Solution



https://dl.doubtnut.com/l/_iHdxbpAmhX2p
https://dl.doubtnut.com/l/_QxAjgpfIZsmr

66. Which hydracid of halogen has the highest

bond energy?

o Watch Video Solution

67. What is the physical state of bromine at

room temperature ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7IhViJnK1cao
https://dl.doubtnut.com/l/_5phoQcfh4XQh

68. Which element of Gr 17 shows hydrogen

bonding ?

o Watch Video Solution

69. HF is less volatile than HCI. Explain.

o Watch Video Solution

70. Which halogen acid is the strongest acid ?

o Watch Video Solution



https://dl.doubtnut.com/l/_QQIAoz2U0pZW
https://dl.doubtnut.com/l/_zbCXkTWZIabR
https://dl.doubtnut.com/l/_B96Kb1IqI4Pk

71. Why OF, should be called oxygen

difluoride and not fluorine oxide ?

o Watch Video Solution

72. Write one oxyacid of chlorine having +7

oxidation state.

o Watch Video Solution



https://dl.doubtnut.com/l/_B96Kb1IqI4Pk
https://dl.doubtnut.com/l/_uRGr9XwMYwX0
https://dl.doubtnut.com/l/_CJSDlXECrQak

73. HF is a liquid whereas HCl is a gas. Explain.

o Watch Video Solution

74.Why is Cl5 a gas but I, is a solid ?

o Watch Video Solution

75. Which halogen on reaction with water

librates oxygen gas.

o Watch Video Solution



https://dl.doubtnut.com/l/_bAU5zYGacCKq
https://dl.doubtnut.com/l/_enHHg9P91XFP
https://dl.doubtnut.com/l/_Qzmv0VXlMZ7m

76. Fill in the blanks : The halogen having

metallic lustre is ...........

o Watch Video Solution

77. Fill in the blanks : The oxidation state of

chlorine in chlorous acid is .....

o Watch Video Solution



https://dl.doubtnut.com/l/_Qzmv0VXlMZ7m
https://dl.doubtnut.com/l/_0fYdEuMpVqSo
https://dl.doubtnut.com/l/_B9rnI0eIWozV

78. Fill in the blanks : Among all halogen acid

.......... Is the weakest reducing agent.

° Watch Video Solution

79. Fill in the blanks : A halogens combine with

another halogen to form ... Compound.

o Watch Video Solution



https://dl.doubtnut.com/l/_wzwSLY6nEA3q
https://dl.doubtnut.com/l/_aGD8dmMG1Flm

80. Fill in the blanks : The ratio of HNQO3 and

HClin aquaregia is ...

o Watch Video Solution

81. Bleaching action of chlorine is due to:

o Watch Video Solution

82. Fill in the blanks : Cly reacts with cold

NaOH to give ...



https://dl.doubtnut.com/l/_YcdsYVzugAGd
https://dl.doubtnut.com/l/_oSSeITsVJFeD
https://dl.doubtnut.com/l/_GwTZijbTc69Q

o Watch Video Solution

83. Fill in the blanks : The halogen acid whose

boiling point is high ...

o Watch Video Solution

84. Which halogen does not exhibit the

oxidation state of +1?

o Watch Video Solution



https://dl.doubtnut.com/l/_GwTZijbTc69Q
https://dl.doubtnut.com/l/_mAKXAqrDElCm
https://dl.doubtnut.com/l/_nTP5cCWbG6sJ
https://dl.doubtnut.com/l/_ZpIkOEwZQesR

85. Which halogen does not form oxyacid ?

o Watch Video Solution

86. Fill in the blanks : The strongest reducing

agent among all the halide ions is ...

° Watch Video Solution

87. Fill in the blanks : Between F, and Cl,

.............. Has lower bond dissociation energy.



https://dl.doubtnut.com/l/_ZpIkOEwZQesR
https://dl.doubtnut.com/l/_86epB1DzfSRl
https://dl.doubtnut.com/l/_1VGtNGYhE88G

| ¥ Watch Video Solution |

88. Fill in the blanks : Equimolecular amount of

I, and Cl, react to form ...

o Watch Video Solution

89. Fill in the blanks : Equal volume of Cl, and

F, gas combine at 473 K to form ..........

o Watch Video Solution



https://dl.doubtnut.com/l/_1VGtNGYhE88G
https://dl.doubtnut.com/l/_ESIc1PIKFLhI
https://dl.doubtnut.com/l/_3lGBgsqZn5ge
https://dl.doubtnut.com/l/_17FSDUZ3nWDw

90. Fill in the blanks : The weakest acid among

all the oxyacids of chlorine is ...

° Watch Video Solution

91. Fill in the blanks : The halogen with highest

ionisation potential is ...

o Watch Video Solution

92. Fill in the blanks : ... is called super

halogen because of its high ...........


https://dl.doubtnut.com/l/_17FSDUZ3nWDw
https://dl.doubtnut.com/l/_1tyHqtdrZXp9
https://dl.doubtnut.com/l/_XdQEKRMXPFfo

° Watch Video Solution

93. Fill in the blanks : Of all the halogens only

............. Forms polyhalide ions.

o Watch Video Solution

94. Fill in the blanks : Chlorine reacts with dry

SO, to form .........

° Watch Video Solution



https://dl.doubtnut.com/l/_XdQEKRMXPFfo
https://dl.doubtnut.com/l/_P5HSZtUCyDrh
https://dl.doubtnut.com/l/_69cVJ4T5081B
https://dl.doubtnut.com/l/_5LZvSXanveD7

95. Fill in the blanks : ............. Is the radio active

halogen.

o Watch Video Solution

96. Fill in the blanks : Chlorine is liberated
from hydrocloric acid in cold by the action of

o Watch Video Solution



https://dl.doubtnut.com/l/_5LZvSXanveD7
https://dl.doubtnut.com/l/_uCsWQ9jnbJD3

97. Fill in the blanks : Halogen extracted from

sea weed is ..........

o Watch Video Solution

98. Fill in the blanks : In the oxo acids of

halogens, hydrogen is present in ... Group.

o Watch Video Solution



https://dl.doubtnut.com/l/_lBbevkRHOdcM
https://dl.doubtnut.com/l/_iE3zNYe5tAkz

99. Fill in the blanks : Among halogens , ...

is least reactive.

o Watch Video Solution

100. Fill in the blanks : The reactivity of
halogens ... With increase in atomic

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_4n5AKaw3TCWu
https://dl.doubtnut.com/l/_DEYmkjMzRxLA

101. Electron affinity of flourine is less than

that of chlorine Why ?

o Watch Video Solution

102. Why is the bond dissociation energy of F5,

less than that of Cl, ?

o Watch Video Solution



https://dl.doubtnut.com/l/_J0sN4C9oCmXw
https://dl.doubtnut.com/l/_iAZKmKn5KZ8L

103. Why 'F' does not exhibit any positive

oxidation state ?

o Watch Video Solution

104. Why is F5 stronger oxidising agent than

Cly?

o Watch Video Solution



https://dl.doubtnut.com/l/_qE0n6EHZvwmw
https://dl.doubtnut.com/l/_65vDeSsiB3X4

105. In aqueous solution HF' is weaker acid

than HC1?

o Watch Video Solution

106. Arrange HCIlO,. HClOs, HCIO,5 and

HCIO in the order of oxidising power.

o Watch Video Solution



https://dl.doubtnut.com/l/_x4NXRFGg9XVD
https://dl.doubtnut.com/l/_jcjxHWx0IxvS

107. Explain that bleaching action of CLs is

permanent, while that of SO, is temporary.

° Watch Video Solution

108. What are interhalogen compounds ? Why

are these more reactive than halogens ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LUuLtadLdPl3
https://dl.doubtnut.com/l/_EYzjfKXi5l5K

109. How are interhalogen compounds formed

? Give general formula.

° Watch Video Solution

110. Fluorine never acts as the central atom in

polyatomic interhalogen compounds.

o Watch Video Solution



https://dl.doubtnut.com/l/_PGVXHxuXR1hQ
https://dl.doubtnut.com/l/_yJUf4ohlj0KI

111. Fluorine exhibits only—1 oxidation state,
while iodine exhibits oxidation states of

-1,+1,+3,+5 and+7. This is due to :

o Watch Video Solution

112. What is the action of Cl, with ammonia ?

o Watch Video Solution

113. Why is ICl more reactive than I,?



https://dl.doubtnut.com/l/_FqXZqym1IGjQ
https://dl.doubtnut.com/l/_CrGEThIJGUjg
https://dl.doubtnut.com/l/_u0Jo7EUnm8Yq

o Watch Video Solution

114. HF is a liquid whereas HCl is a gas. Explain.

o Watch Video Solution

115. Why is iodine solid, but other halogens are

not ?

o Watch Video Solution



https://dl.doubtnut.com/l/_u0Jo7EUnm8Yq
https://dl.doubtnut.com/l/_iDnhXkPLnNBO
https://dl.doubtnut.com/l/_f7WR0rLWpe1h

116. Write two characterstic properties of

interhalogen compounds.

o Watch Video Solution

117. What happens when chlorine is passed

through acidified F'e SO, solution ?

o Watch Video Solution



https://dl.doubtnut.com/l/_1WteFJXq8Lwj
https://dl.doubtnut.com/l/_1Eg0OKxqQbqP

118. What happens when Cl, gas is passed

through dry slaked lime?

o Watch Video Solution

119. Why CIF} exists, whereas F'Cl3 does not

exist explain?

o Watch Video Solution



https://dl.doubtnut.com/l/_DbK7FeHoCrpw
https://dl.doubtnut.com/l/_2aa6DyoqZ3yt

120. PCll5 is known but PI5 is not known. Why

?

o Watch Video Solution

121. How can you prepare CI, from HCl and

HCl from Cly ?

o Watch Video Solution

122. Why HC'l cannot be dries over P,Os ?



https://dl.doubtnut.com/l/_RjKejJalDZvP
https://dl.doubtnut.com/l/_KWy471ZAgTz2
https://dl.doubtnut.com/l/_QOugbcmlTFF1

o Watch Video Solution

123. Why is boiling point of HF' abnormally

high ?

° Watch Video Solution

124. Why is fluorine most reactive of all the

four common halogens ?

o Watch Video Solution



https://dl.doubtnut.com/l/_QOugbcmlTFF1
https://dl.doubtnut.com/l/_CIw5bHqhEFjy
https://dl.doubtnut.com/l/_a67P9nPRepC4
https://dl.doubtnut.com/l/_4Ie1Pkd4V8aQ

125. lodine forms I;” but F, does not form

F; ion.Why ?

o Watch Video Solution

126. Write a note on interhalogen compounds.

o Watch Video Solution

127. Write the structure of oxoacids of

chlorine.

| & I


https://dl.doubtnut.com/l/_4Ie1Pkd4V8aQ
https://dl.doubtnut.com/l/_0Ls3lkPoY3YY
https://dl.doubtnut.com/l/_0aiPJtRrSWQW

| ¥ Watch Video Solution |

128. Give two general methods of preparation
of Chlorine. How does it react with

Dry slaked lime

o Watch Video Solution

129. Give two general methods of preparation
of Chlorine. How does it react with

Excess ammonia

o Watch Video Solution



https://dl.doubtnut.com/l/_0aiPJtRrSWQW
https://dl.doubtnut.com/l/_Gg0BWu4Zg3XD
https://dl.doubtnut.com/l/_xfRlCS8ufDwM

130. Give two general methods of preparation
of Chlorine. How does it react with

Hot NaOH solution

o Watch Video Solution

131. Give one method of preparation of hydro
chloric acid.Why this gas is not dried over

quick lime ? How does it react with

acidified KM, O, solution.

| = 1


https://dl.doubtnut.com/l/_xfRlCS8ufDwM
https://dl.doubtnut.com/l/_hP3uVIEPU3KX
https://dl.doubtnut.com/l/_gfUFlf8VnD9U

I &9 Watch Video Solution I

132. Give one method of preparation of
hydrochloric acid.Why this gas is not dried
over quick lime ? How does it react with

Ozone

o Watch Video Solution

133. Give one method of preparation of hydro

chloric acid.Why this gas is not dried over


https://dl.doubtnut.com/l/_gfUFlf8VnD9U
https://dl.doubtnut.com/l/_YEhpSUZ0oXsF
https://dl.doubtnut.com/l/_yMeaVd1rAAAM

quick lime ? How does it react with

MTLOg

° Watch Video Solution

134. Give a comparative account of group 17

elements of periodic table.

o Watch Video Solution



https://dl.doubtnut.com/l/_yMeaVd1rAAAM
https://dl.doubtnut.com/l/_upJsl8u5pPwZ

